A l’hôtel
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	Across:

  1  three

  2  garage

  8  with a toilet

  9  one night

11  swimming pool

13  shower

14  a double bed

16  no

17  bar

18  

23  lift

24  sink

25  Is there ...?

26  person
	Down:

  1  television

  3  with two beds

  4  five

  5  two rooms

  6  bathroom

  7  a bed

10  two nights

12  room

15  I'd like

19  to reserve

20  car park

21  lounge

22  how many?

27  yes


A l’hôtel
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This puzzle was compiled using Toolbox.
For a free trial go to www.discoveryeducationalsoftware.co.uk/toolbox_e.htm
